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1 102002001 £t 4259040865 HIES 77.6133 72.5333 81.00 1 1 1 2
2 102002001 £t 4259035165 e I 75.1333 71.1333 77.80 2 2 2
3 102002001 £t 4259048649 =% 71.3333 70.3333 72.00 3 3 3
4 102002002 Iigiém 4259055362 =opi 76.3067 70.4667 80.20 1 1 2 82
5 102002002 Iigiém 4259010501 EH 75.2933 67.3333 80.60 2 4 1 82
6 102002002 Iiigm 4259040926 kB8 73.0800 69.6000 75.40 3 2 4
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7 102002002 Iigg* 4259003871 ZRIED 72.3333 67.1333 75.80 4 5 3
8 102002002 Iig:g* 4259002860 FrEx 70.9867 68.2667 72.80 5 3 5
9 102002002 Iﬁiié* 4259073862 == 66.2000 65.0000 67.00 6 6 6
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